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I ’nmwn: the Y81 na and her various rights
a  marries a }nd — eats NMYIN
113 dies, leaving her with 1n3 12 — eats nmn
marries "% — can no longer eat "M N, due to marriage to 71; eats 7"yn (n™)
nY dies, leaving her with »% 12 (and 103 12), continues to eat 17wyn (but not nmn)
marries YR’ — eats nothing
Y81 dies, leaving her with Y81 12 (along with 103 121 »1% 12), eats nothing
987w 12 dies (left with 103 121 1% 12) — returns to status of eating 1"yn
nY 11 dies (left with 103 11) — returns to status of eating nmn —
i inferred from naj (v. 1) — either the extra y"®1 or the entire word being extra
ii  as well as 1 ntn — the limiting phrases (in vv. 1 & 2) only refer to 10> na
i n3 12 dies (left with no children) — returns to status of Y879’ na — eats nothing
II v mwn: the 112 na and her various rights
a  marries a Y87 — eats nothing
981w dies, leaving her with Y81’ 11 — eats nothing
marries "% — eats 1"yn (in spite of her H%7v 12)
nY dies, leaving her with a " 12 (along with a Y81w 12) — continues to eat 1"yn
marries 113 — eats "N (in spite of her Y81w 12 and "% 12)
113 dies, leaving her with 103 12 — continues to eat nm7n (in spite of other sons)
112 12 dies (leaving her with Y9877 121 15 12) — eats 1”"yn
nY 12 dies (leaving her with Y%7w 12) — eats nothing
987w’ 11 dies (leaving her with no children) — returns to status of 103 na and eats nnn (v. 1) -
i but does not return to eat 1w NIN;
1 source(s) — various mwaT on vv. 1-2
2 limitation derives from those mw 7 cannot refer to o7 n1an, as per v. 3 — once she has left
father’s mw9, he never again has purview over her vows
III  Analysis of nw17 on v. 1 — 1 1wan excludes m2wn (i.e. if pregnant from 1, she’s prevented from eating nmn)
a  Challenge: should be unnecessary, could’ve been derived from ma» mabn via1p:
i Major: in ma» - children from earlier marriage not reckoned, pregnancy (from dead husband) reckoned
it~ Minor: in nm N, where children from earlier marriage are reckoned (and continue to prevent her
from eating or allow her to eat), pregnancy should certainly be reckoned (& block her from eating)
b  Answer: ma» is minor, since the dead (children) are considered living (if they died after the husband
died, she is exempt from ma» as if children were alive) which is not true in the case of nmn
¢ Justification for 2 verses (n1wnand 75 pr Y77)
i Side 1: if only had n% px »71, 870 since there are now 2 bodies, she doesn’t eat nmIn
ii  Side 2: if only had (n12yn-) N3, R"10 since her body is now “swollen”, she doesn’t eat nm n
IV Various theoretical attempts to use 1’p reasoning to overturn norms
a  Attempt #1: consider dead (children — deceased after death of husband) dissimilar from living children
for purposes of m12» via 1p from nmn:
i Major: children from previous marriage count in case of nmn, yet the dead don’t count
ii ~ Minor: children from previous marriage don’t count in case of m1a»->dead shouldn’t count
iii  Block: v. 5: if the child would die later, her subsequent marriage would be invalidated etc.
b Attempt #2: consider dead like living for nmn via v’p from oa»
i Block: n5 pR 71 — and she has no children
¢ Attempt #3: consider children from earlier marriage sufficient to obviate m1a» np1, via v’p from nmn
i Block: 1% PR 121 - follows husband’s progeny (or lack thereof)
d  Attempt #4: don’t consider children from earlier marriage vis-a-vis nmIn n%y, via v'p from oya»
i Block: n% & 71 — and she has children

= ae S o S

5o ™™o o0 o

—-

www.dafyomivicc.org 74 © Yitzchak Etshalom 2014




